
            Tribe 16 JK Flank Panel Install 
 

 

 

Included in Kit: 

Right JK Flank Panel 1 

Left JK Flank Panel 1 

1/4-20-3/4 Button Screw 6 

1/4-20 Lock Nut 6 

1/4 Washer 12 

8MM-1.25-30 Cap Screw 6 

8MM Washer 6 

2.5in Wire Loom Clamp 4 

3.5in Wire Loom Clamp 2 
 

Tools Needed: 

7/16 Wrench 

5/32 Allen 

13mm Socket or Wrench                                                                                              

The install of the Tribe 16 JK Flank Panel is quick, easy and works with all tops. With a hard top the 

bottom of the panel sandwiches between the rail and the hard top.  With a soft top there are no parts of 

the panel or top that interact.  

Line the panel up on the top rail and loosely start the 3 8MM-1.25-30 Cap Screws through the washer 
into the threaded hard top fastener. (Fig.1) Take the 3.5in Wire Loom Clamp and run it over the roll bar 
with the flat portion laying up against the panel, lining up the hole in the clamp and the hole in the 
panel.  Insert a 1/4-20x3/4 Button Screw through both holes backing it up with a 1/4x20 Lock Nut and a 
washer on both sides, leave this loose for now. (Fig.2) 

                         

                    Fig.1                                                         Fig.2                                                           Fig.3 



            Tribe 16 JK Flank Panel Install 
 

 

Just below the cage gusset in the rear wrap a 2.5in Wire Loom Clamp around the roll bar with the flat 

portion laying up against the panel.  Line up the hole in the clamp with the 4th slotted hole down from 

the top and insert another 1/4-20x3/4 Button Screw backed up with a 1/4x20 Lock Nut and a washer on 

both sides. (Fig.3) Repeat that step one more time but lower on the roll bar aligning the hole in the 

clamp with the 3rd slotted hole from the bottom. (Fig.4) Using a 13mm socket or wrench tighten the 

8mm bolts in the bottom of the panel.  Then using a 5/32 Allen, backed up with a 7/16 wrench, tighten 

the 1/4-20x3/4 Button Screws on the face of the panel. (Fig.5) With all the fasteners tightened install 

your molle bags and pouches and enjoy your Tribe 16 Flank Panel. (Fig.6) 

          

                       (Fig.4)                                                    (Fig.5)                                                      (Fig.6) 

 

 


